
Fruiting wood in the grapevine

a) one-year old canes

b) laterals 

c) water shoots (i.e. from latent buds)













Node fruitfulness vs. position along 

the cane

a) definition

b) distribution along canes 

c) influencing factors (genetic, 

environmental, coltural)







Node position along spur or cane (no.)

Bud fruitfulness
(clusters/shoot)
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• Potential fruitfulness

• True fruitfulness



True fruitfulness

• Bud load

• Cane length

• Cane position







Bud number per vine 

Yield per vine

Yield increase is 

less than 

proportional to 

bud number 

increase

Nessun aumento produttivo

No further yield increase











Case A Case B

Bud number per 

vine
30 30

Spur number

Spur length 

(nodes) 2

615

5

Yield and grape 

composition?
? ?
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Shoot position along arched cane

Bloom (CV = 33 %)

Veraison (CV = 37 %)

L
ea

f 
a
re

a
 p

er
 s

h
o

o
t 

(m
 2

)

0

0.2

0.4

0.6

0

0.2

0.4

0.6
Basal Median Apical



0

10

20

30

40

50

25

Basal Median Apical
0

5

10

15

20

L
ea

f 
a

re
a

 p
er

 s
h

o
o

t 

(d
m

2
) 

°B
ri

x
 (

%
)

a
b

a








